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%1 TR psb104E 47 (>PSL R

- 2 R 75 R =2 B F
PSI | 5%+ | PSI ik X PSI | A%+ | PSI | 5%+ |PSI|i7%+
104# 47 01p 30 03 41 03 41 | PM10 | 31 PM10 39 | PM10
104# 4% 02p | 40 03 44 PM10 48 03 39 03 41 03
104#47 03p | 42 03 45 PM10 51 03 45 03 48 03
104# 47 04p 34 03 37 03 37 03 35 03 39 03
104# 47 05p 51 03 64 03 65 03 59 03 64 03
104# 47 06 F 24 03 31 PM10 29 | PM10 | 25 PM10 32 | PM10
104# 47 07 27 03 34 03 26 03 30 03 36 03
104#47 08p | 48 03 54 03 56 03 51 03 56 03
104# 47 09p 78 03 73 03 81 03 74 03 81 03
104# 47 10p 64 03 64 03 66 03 62 03 65 03
104# 47 11p 90 03 89 03 92 03 84 03 93 03
104# 47 12p 74 03 67 03 69 03 59 PM10 68 03
104# 47 13p 87 03 79 03 83 03 75 03 82 03
104#4% 14p | 46 | PM10 | 60 PM10 64 | PM10 | 58 PM10 60 | PM10
104#47 15p 36 03 37 PM10 34 03 31 03 36 03
104£47 16p 61 | PM10 | 32 PM10 36 | PM10 | 26 PM10 32 | PM10
104£47 17 55 03 57 03 61 03 53 03 50 03
104#4% 18p | 46 03 56 03 58 03 52 03 57 03
104£47 19p 80 03 66 03 83 03 77 03 80 03
104£47 20p 53 03 61 PM10 63 03 57 PM10 58 03
104# 47 21p 67 03 66 03 73 03 65 03 74 03
104# 47 22p 70 03 71 03 77 03 70 03 74 03
104# 47 23p 71 03 66 PM10 69 03 62 03 64 | PM10
104# 47 24p 61 03 60 03 62 03 55 03 57 03
104# 47 25p 57 03 47 PM10 47 | PM10 | 43 PM10 47 03
104# 47 26 66 03 59 03 71 03 56 PM10 64 03
104£ 4% 27p 30 03 41 03 41 | PM10 | 31 PM10 39 | PM10
104#47 28p | 40 03 44 PM10 48 03 39 03 41 03
104#47% 29p | 42 03 45 PM10 51 03 45 03 48 03
104# 47 30p 34 03 37 03 37 03 35 03 39 03

FHRR R EE L FSFEMTRLGH %3 K gsE Tw i)




4.2 TRikBip|zk104E£ 47 (PSR

)

P < Dl % BE B M

’ PSI | 5%4 | PSI | 544 | PSI |i5%4 | PSI | i5%4 |PSI| 5%+ | PSI | 5%+
104#47 01p 59 | PM10 | 59 | PMI10 51 PM10 | 51 | PM10 | 50 | PM10 | 49 | PM10
104#4" 021 59 | pm10 | 60 | PM10 53 PM10 | 52 | pm10 | 48 | PM10 | 51 | PMI10
104#47 03p 53 | pPm10 | 56 | PM10 46 | pM10 | 52 03 | 58| 03 42 | pM10
104#4" 04p 57 | pM10 | 56 | pm10 | 51 | pm10 | 59 03 | 51| o3 49 | PM10
104#4" 05p 52 | pm10 | 48 | PM10 42 PM10 | 43 | pM10 | 37 | PmM10 | 46 | PM10
104#47 061 54 | pM10 | 53 | PM10 50 PM10 | 50 03 46 | pm10 | 42 | PMI10
104#4" 07p 50 | PM10 | 55 | PM10 | S0 | pm10 | 59 03 | 40 | pM10 | 38 | PM10
104#=4" 08p 40 03 41 PM10 36 PM10 45 03 33 03 32 03
104% 4% 09p 61 03 52 PM10 57 03 75 03 42 | PM10 44 03
104£4° 100 38 | pPm10 | 48 | pM10 | 48 | PM10 | 35 | PM10 | 32 | PM10 | 27 | PMI0
104#47 11p 38 | pM10 | 38 | PM10 39 PM10 | 34 03 28 03 27 03
104% 4% 12p 52 03 44 03 38 03 67 03 40 03 41 03
104#47" 13p 74 03 63 03 64 03 97 03 67 03 59 03
104#4" 14p 68 03 59 03 55 PM10 79 03 57 03 50 PM10
104£47 15p 101 | O3 73 03 58 03 113 03 76 03 71 03
104#4" 16p 69 | pm10 | 63 | pm10 | 57 | pm10 | 81 03 |59 | o3 57 | pM10
104#4% 17¢p 75 03 69 03 62 PM10 76 03 70 03 58 PM10
10447 187 73 | pm10 | 67 | PMI10 58 PM10 | 92 | PM10 | 55 | pmM10 | 98 | PM10
10447 19 51 | pm10 | 50 | pMm10 21 | pm10 | 29 03 | 3| o3 34 | PM10
1044 20 45 | PM10 | 43 | PM10 29 | PM10 | 28 | pM10 | 31 | pM10 | 30 | PM10
104#47 21p 52 03 55 PM10 47 PM10 50 03 47 | PM10 42 03
104&47 227 52 03 55 | pM10 46 PM10 | 55 03 | 38 03 45 03
104# 47 23p 65 03 75 03 55 PM10 69 03 61 03 54 03
10447 2479 66 | pM10 | 73 | PM10 64 PM10 | 60 | pm10 | 64 | pM10 | 61 | PM10
104#47" 25¢p 61 03 65 PM10 57 PM10 76 03 60 PM10 55 03
104#4" 261 65 03 65 03 53 PM10 79 03 62 03 56 03
104#47 27p 72 | pM10 | 62 | PM10 61 PM10 | 63 03 | 61 | pMm10 | 60 | PM10
104& 47" 28 p 55 PM10 55 03 54 PM10 66 03 52 03 48 PM10
104&4 7% 29p 51 | pmM10 | 54 | PM10 54 PM10 | 46 03 50 | pM10 | 46 | PM10
104#47 30p 63 | pM10 | 65 | PM10 63 03 80 03 | 64 | pm10 | 57 | PM10
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Y PSI 5% % | PSI L34 4 | PSI 524 | PSI |5 %% | PSI |75 %%

10447 01p 55 PM10 60 PM10 52 PM10 53 PM10 40 PM10

104&4% 02p 52 PM10 55 PM10 52 PM10 53 PM10 36 PM10

104#4% 03p 50 PM10 53 PM10 50 PM10 50 PM10 36 PM10

104£47% 04p 54 PM10 59 PM10 56 PM10 54 PM10 40 PM10

104#4% 05p 44 PM10 50 PM10 48 PM10 43 PM10 43 PM10

10447 06 p 51 PM10 54 PM10 52 PM10 47 PM10 47 PM10

104&47% 07p 53 PM10 55 PM10 47 03 42 PM10 56 PM10
104£4% 08 p 36 03 40 PM10 40 03 28 PM10 46 PM10
10447 09p 57 03 54 03 70 03 45 03 58 03

104247 10p 41 PM10 47 PM10 39 PM10 35 PM10 44 PM10

104&4% 11p 41 PM10 43 PM10 40 PM10 35 PM10 41 PM10

104&4% 12p 48 03 44 03 58 03 38 03 53 03
104%4% 13p 61 03 62 PM10 74 03 58 03 69 03
104247 14p 61 PM10 60 PM10 64 03 55 PM10 63 PM10
104#4% 15p 73 03 73 03 97 03 66 03 93 03
104&4% 16p 70 PM10 70 PM10 68 03 61 PM10 67 PM10

104247 17p 70 PM10 76 PM10 73 PM10 62 PM10 72 PM10

104%4% 18p 65 PM10 67 PM10 66 PM10 57 PM10 56 PM10

104&4% 19p 46 PM10 44 PM10 45 PM10 37 PM10 33 PM10

104247 20p 47 PM10 39 PM10 39 PM10 36 PM10 34 PM10

104247 21p 54 PM10 55 PM10 56 03 45 PM10 56 03
104&4% 22p 51 PM10 50 PM10 59 03 39 03 54 PM10
104&4% 23p 54 03 55 PM10 66 03 52 PM10 62 03
104247 24p 61 PM10 72 PM10 58 PM10 58 PM10 64 PM10
104#4% 25p 56 03 59 PM10 69 03 50 PM10 67 03
104#4% 26p 59 03 61 PM10 70 03 50 PM10 65 03
104247 27p 67 PM10 74 PM10 66 03 60 PM10 66 PM10
104#£47 287 58 PM10 55 PM10 58 03 56 PM10 55 PM10
104#£4% 29p 54 PM10 55 PM10 42 03 55 PM10 41 PM10
104#4% 30p 60 PM10 66 PM10 64 03 61 PM10 66 03
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28 & Boplek L0 2 55 441048 1~40 T35 $1103% & B R
BpO|H P R o AR R R et A LA R R S I R A
S02 | ppb 103# T 12 29 3313132 |31]40|31 (25|22 (41|32 (45|45 (47|41 |42

104#1-47 T35 26 {29130(31|129(43|34(26|26(40(28|45|44|48|34|5.2
NO2 | ppb 103 # L 12 10.4 {145/18.4|119.0|15.9|/16.8|11.6|13.8|16.1|24.4|14.9/16.6/14.0|/15.4|15.9(12.3

104# 147 T35 13.7 {15.4121.8|20.7|17.0/19.8(12.9({17.9|23.8|20.0/18.1|18.5|14.7|16.3|17.4|13.1
03 opb 103 & L' 32 31.9 [30.9|27.6(27.4|28.0/29.8|25.4|24.5(22.7|24.0{29.5|26.1{30.4|30.3(22.2|20.9

104#1-47 T35 31.6 [32.7|26.8(26.0{31.1|27.8|33.2|22.8{21.0|28.2|26.4|27.1|29.7|33.0({23.6|33.4
co |ppm 103 # T 1= 0.39 {0.36/0.52]0.51|0.38|0.64 0.37(0.60 0.48

104 1-47 T35 0.46 |0.41/0.59/0.56|0.42|0.67 0.26/0.54 0.52

NMHC | ppb 1034/**1&j _ 0.14 0.2410.19|0.22]0.59 0.440.60

104#1-4% T35 0.15 0.25{0.21(0.21|0.44 0.37(0.45
PM10 | ppb 103 & T35 45 | 54 | 58 | 50 | 54 | 53 | 64 | 57 | 57 | 68 | 58 | 74 | 62 | 47 | 54 | 67

104#1-47 T35 47 159 |1 63 | 55|58 |58 |68 |68 |63 |71|53|78|68|59|66|73
PM2.5 | ppb 103# T 35 24 | 31 | 31| 28|27 |31 |32|22|31|31|31

104 1-47 T35 24 | 2533|3130 |31 |27 |24|30|32| 33| 44 42
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